www. kar shenasi . com

Y o 3wl i3 gal 09 8 1 o oKoewl = (AN 515 o&ils (63 5,18 ko) el aim gl wlid )18 SV G

AP 13T olSils (593,18 ol — diva gaals ceuliadi IS &Y o

B3 VP o 983ealy loym SN VY

Sl g by

Tl IS X a6 oz 50 ol 53 cadl X=(ANB)N(B-A) 8 550

AUB A o ()
5 _ 6 4
R X X g
120 120 60

Sl plas y=_26X+3 S S s gl B o Y

1
——(r 3y 4(\
2( ( (

¢! c‘-\s f(X)=—3SIH(:iTX] c\&' u_gw IPEL 3

21 4T 3
== = -

3 3 4
Cod pldS Y= Al L pad 0 4 0

O YT ks & T

XE(O,+°°) \x xe(—w,+<>o) x xe(—w,O) Q

0,03 e b sl p5 SV¥sles oliws @ lais plaS of5f 4 1

x—2y-z=0
x+ay—-2z=0
-2x+y+z=0
3¢ +12 (v -5 -8 (\
4 4cos(2x)
Soml plas | 4 ———— O Kl ks 2V
¢ '[0 1+sin? (2x)
3n T T T
— (¢ — -0 — @
4 2 3 4
¢l fl.\S xcosy—xzsiny+y—1:O c\s Gt | X c\sy Sl o4 LA
cosy—2xsiny s cosy—xsiny+l1 v 2xcosy—sinx v —xsiny—x2 cosy+1 0
xzcosy-i-xsiny—l —xsiny—xzcosy+1 l—xzcosy+xsiny 2xcosy—x2siny
2x+1
. 3x+6
Sl plas XLII’EOOI: Xx } Jot
e2x+1 (s 64 s 4e (v 362 Q
sin 5
Sl plas 1i -\
= B a—ex J
Inf ——
4
-2 1 -1
— (¢ = ( — =0
3 3 3

www. kar shenasi . com



www. kar shenasi . com

v o 3wl i3 gal 09 8 1 o oKoewl = (AN 515 o&ils (63 5,18 ko) el aim gl wlid )18 SV G

Sl 1S log ) o807 ity log g =k 5111
%, 2k kel S
3k +2 k+1 1-2k 1-2k
s.,\_.i’:\f HA}‘}JMﬁ‘ﬁWJWdL&M .,;J.b‘_}.ab_g..\.zlf(a>0)‘,awm &w&d;‘wﬁsgfﬁ;‘_\"

¢! e g Q}f foS GKJI

a=-1 (¢ a=r—1( a=1 (Y a:l(\
T

8
¢! f‘.\S [a+l) .h.wa.J.: 3.4 M%ﬂ_\\"
a
18 (¢ 28 (¥ 12 (¥ 24 (A

§ ! (,\US 6=—3;—53+2f( 3 £=6;—43—12 D3 s e gy Ve

120° (¢ 60° (v 90° (¥ 110° (y
3x
6x +6
Sl plas lim - _\0
= c xﬁoo( 6x ] y
e 6e> (r 3e? +1 (v 3¢ -1 (1
§ il plas y=x2sin(Lnx) guis -\
y'=2xcos(Lnx )+ (Lnx +1)sin (Lnx) (¥ y':2xsin(1)+xcos(Lnx) QO
X
y'=x(2sin(Lnx)+cos(Lnx)) (¢ y'=-2xcos(Lnx)+xsin (Lnx +1) (¢
Sl fl.\S 2x3—y2+3x2y=—4 Sl s VY
2 2 2
6y(x+ —-6x° — 6 +
dy =Y FOxy +§"y ax ¢ dy=EHY) );)dx ¢y gy Y };)dx 0
2y-3x2+4 2x -3y 2y—3x2 +4 2y —3x
ot plaS £(=7) Jlade o7 s a<b 5 £(f(x))=9x-8 5 f(x)=ax+b SI_1A
21 ¢ 25 (v 16 (v -190y

Tl plas 1= | e x3dx J1,Ksl fols 14

2
ZeX2 —lx3 0 kS L (v ex2 2x2 _L x e? | 2x2 _1 Q
4 4 2 3 4

Sl plas (0,0) aka&i ,5 arccos(x)+arccot(y)—y =T sove p oo da> dslas Y+

2y +x=0 (¢ x—y=m (¥ x+y=0 (v x—2y=0 (
Ln(x2—8)
el <~|.,\S lim 3 > ¥\
x—3 x7 -10x +3
6 3
io (8 -6 (v — (x -2 0
o ( ( 17 ( 4 (
el (.us y:x2+4x 7 y:—x2 e 95 oy et al ol LYY
27 20 13 8
— (¢ - — 0 =@
4 3 50 3
(HS Sl s Cda Jdms & s ol s il e3,41 17 o g0l RRA pyd )3 Al 00015 (uys ia y3 soedils S Jdas YV
15.10 ¢¢ 15.25 (v 15.96 (¥ 15.34 (A

www. kar shenasi . com



www. kar shenasi . com

¥ o 3wl i3 gal 09 8 1 o oKoewl = (AN 515 o&ils (63 5,18 ko) el aim gl wlid )18 SV G

¢ sl MJAUJ@AjACﬁ(R)M%J.}AJ}«J: Q}ffus_"i

b oS el alaly ST LR =0 S1(Y A2bs -l 5+1 o3l 3R wien (0
ol a3l g s e alad, LELO <R <H1 SI(8 Sl JAlS 5 ke alaly AL R =41 S1(F
y|t]2]3]4
P l 1 a l
8 | 4 2
5 1 1 3
= (¢ - = =0
8 5 8 8

d\.o}.‘}‘.ﬁlsgfc_)ucﬁajédjufdbb}%}éé@)ﬁﬁ#.ﬁﬁ)&dﬁ&Sﬂjé |)}dﬁcﬁa)l€€_gdiaj€.¢w_*'\
¢! f‘..\s MU »_<4,o.a el C)G LBy oIEL] 4;...;|

TS Sl 55k 83 Pla b Il gd oF S il oo b L 4 Jligb 5L AT o 1YY
110 ¢ 29 (v 99 (v 121

?M\'ﬁjéb,)j‘é”aujjé'\p.’éﬁyuﬁ,)\f'\%J:A‘.‘.J‘:)m:'ﬂ'résdyuﬁ)lf24‘)wu‘;é’,$‘l—YA
8 (¢ 12 (¥ 9 (¥ 6 (\
Sl p1aS AX — 1o 4% =1 4x) — 1 slisl Jlas Ol B8 5l X o Xo X olas] il fs ST2¥4

da (¢ J2a dfa (v 2Ja O

=5 5 2
el plas [0 jlie casl jo =039 JLj g s S

0.35 ¢ 0.11 (v 0.22 (v 0.61 (0
s 0L
31- This Language is often credited with being the first compiled high-level language.
1) FORTRAN 2) ASSEMBLY 3) BCPL 4) BASIC
32- This first formal meeting on the subject of a common language for business applications that was sponsored
by the department of defence. This language later named ..... .
1) PROLOG 2) LISP 3) FLOWMATIC 4) COBOL

33- Consider the following instructions :

int T, X, Y3

X=T;

T=Y;

Y=X;

What do the above instructions finally perform?

1) The values of X and Y are exchanged. 2) The values of T and Y are exchanged.

3) The T variable is stored in Y. 4) The X variable is saved in Y.

34- Which packet switched technology provide the highest speed connections among computers? For example it
can spans a small area like a single building or a small campus.

1) WAN 2) Sattelite communication

3) LAN 4) Local Internet system

35- Which layer of the ISO reference model provides end-to-end reliability by having the destination host
communicate with the source host.

1) Application 2) Data Link 3) Transport 4) Network
36- The protocol used to transfer web documents from a server to a browser.
1) ASP 2) HTTP 3) HTML 4) TCP/TP

37- A disadvantage with unstructured programming is it produces a spaghetti program code due to usage of
infamous ..... statements.
1) switch 2) case 3) functional 4) goto
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38- In procedural programming, the ......... is responsible to pass data to the individual calls, the data is processed
by the procedures, and once the program has finished, the resulting data is presented.

1) main program 2) subprogram 3) routine 4) function

39- Which option is a measure of the rate of data transmission equal to 2% bits per second?

1) Mbps 2) Gbps 3) Kbps 4) Mcps

40- An input device used to read the information represented by holes in a punch card in order to transmit it to
the memory of the computer.

1) Cartridge device 2) Cassette device 3) Card Reader 4) Tape Recorder

41- A program used to convert a source program of a high-level language into machine code.

1) Interpreter 2) compiler 3) Simulator 4) Assembler

42- A straightforward sequence of steps or instructions to solve a problem.

1) Mechanism 2) Organism 3) Paradigm 4) Algorithm

43- A device made from a hard material and are of two kinds : moving - head and fixed-head used to store data.
1) Hard Drive 2) Optical Drive 3) Hard Disk 4) Compact Disk

44- When any part of a computer system operates independently of the central processing unit, it is said to be .....
1) passive 2) off - line 3) on - line 4) concurrent

45- A system program which controls the central processing unit, the input, the output and the secondary
memory devices.
1) Operating systems 2) Simulation systems 3) Translator systems 4) Application systems
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var A: Array [0..2, 2..3, 3..4] of integer;
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§ e 03 g g Aslous ) V:.u_,fji 51 aS AR, 0) ,laze 08

function A(m, n : integer) : integer;

begin
if m = 0 then
A=n+1
else if n=0 then
A:= A(m-1,1)
else

A = A(m-1, A(m, n-1));
end;
3 (8 4 (v 2.(y Lo
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function gcd (u, v : integer) : integer;
var t : integer;
begin
while v<>0 do
begin

end;
ged :=u;
end;
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u:=v;v:=t;t:=u modv; (¥

t:=umodv; u:=v;, v:i=t; (¢

program test;
var f: text;
ch : char;
begin
Assign (F, 'text’);
Reset (F);
While not EOF (F) do
begin
Read (F, ch);
Write (ch);
end;
write (ch);
end.

t:=vmodu;u:=v;v:=t; (A

u:=v;v:=t;t:=v modu; (¥

C e ) walip (s > V)

gde ol OF 31 J b el e wtext LU b i ()

Dy e Pl G (F

Sd e ;‘;l;;T:_b.a Of 51 e text kb SUS o 2T g 55l e Ol text Ll ol g (8

program sample;
var i : integer;
procedure procl;
var i : integer ;
procedure proc2;
begin
1:=1+2;
end;
begin
1:=0;
proc2;
writeln(i);
end;
procedure proc3;
procedure proc4;
vart i : integer;
begin
i:=4;
end;
begin
1:=1+3;
writeln(i);
proc4;
writeln(i);
end;
begin
i:=12;
procl;
writeln(i);
proc3;
end.
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program test;
var p,q : integer;
begin
new (p);
pri=5;
new(q) ;
qt:=38;
dispose(p);
pP=q;
new(q);
qh=6;
writeln (p”, g7);
end.
6 5

int func (int a, int b)

{
if (b==1)
return a;
else
return (func(a, b-1) * a);

JS&M" Nbﬂba(i

void main (void)
{
int k, n, sum;
n=>5;
sum = 0;
for (k=1; k <=n; k++)
sum+= k *k;
printf("%d", sum);
}
55 (¢

#include < stdio.h>
void main( )

{

int a,b =0;

56¢(

30 (v

static int ¢[10] = {1,2,3,4,5,6,7,8,9,10};

for (a=0; a < 10; ++a)
if (c[a] =5) b+ =cJa];
printf("%d" , b);
}
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main( )
{
int a,b=0;
static int c[10]={1,2,3,4,5,6,7,8,9,10};
for (a=0; a<10; ++a)
if (*(C+a)%2 == 1) b+ =% (c+a);

25 (¢ 1 10 (¥ 30 O

(e pyaabip s =\

# include <stdio.h>

int whatlsThis (int [ ], int);

int main ()

{
const int arraysize = 10;
int alarraysize] = {1,2,3,4,5,6,7,8,9,10};
int result = whatlsThis (a, arraysize);
printf("%d", result);

return O;
}
int whatIsThis (int b[ ], int size)

}

if (size==1)

return b[0];
else
return b[size-1] + whatlsThis (b, size - 1);

}

200 ¢ 55 (v 100 (v 10 (0

?M.:u.c f"“‘ ulo& Afﬁj M\Sﬁ_ .
#include <stdio.h>
void mystery (char*, const char¥);
int main( )
{
char stringl [80], string2[80];
printf("\n Enter two strings:");
scanf ("%s %s", stringl , string2);
mystery(stringl, string2);
printf(" %s", string1);
return O;
1
void mystery (char * S1, const char * S2);
{
while (*S1 != "\0")
++S1;
for (; * S1 = * S2; S1 ++, S2++);
}
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